Volme. Roterions and v Disk Mekiwd Stew Denck
®| -\ dor Per
Coovs s OX- n disc
0 - X ‘ .
v TY'S (O-¥% ) o X
o

radiVs = 0x - tn
0 = (4" ¢y
¥ *”% )

2
disk Trg(o'(—‘«))la
™

o/
K

rods = ox - fn
7 mOM) dise | (-6

Yodivg < X - -pn

2 - (5142)
2 =+

+

. (2
disk. = T Sél—%m}) dy

Radivs = ox- tn N agnher
o © \;,(]_x'rl) \ .
L
radws = ax - fn '\TS(D-(\B("Z))’(O-Z 3 AX
,0 —’L 0
) 9




(. @ \]_li‘\’\’-"%“'\ Rodivs = ox - $n
| V’Tﬁ' =Y. w9 (\f‘-j “)
du | U= 9% il
) B AR— H% ,—_Lj’L rodivs = ax - tn
o S
y (y-43-0 "
(,JSO“(

4
Washer = ar X (0-(G+) ) & (0-(% H))zokv
0

-x"+5 = x+2  Rodivs® ox - fn
) 2%-2x* o2 = (x5
)ej \ﬁ=2. = xz’ " Y
,\ — y\gt\ ’(Od\\)S = QAX - Q/Y\
7 2 —(X%3)
l v
Washer = T | L' (2-669) ek
0
o. 4 @ -\32 ¥2=1 Radis: ax - fn
T T ay o k- (-‘3"%)
& (‘ ll ? y ::i.i, ¥ s
5> Cad :
=171 fadivs = ox - Lin
\\/x=\ N\ - 2
\ Yoo

Washey — &\( = (~x3"“+sﬂl-( \~’L\1d3




“ Radws = ax - n
k < 0O = (x4
%\ dx Z W y*
2 2

disk = W% (O-wNd X = So (X*-4) dx P o

¢ o . , 2. (X’L“'H&X’z"'l)
= W&(Xﬂ‘gxz +\&93 AX =ﬁ( -é— - {%" *\Uxﬂ N =

3 0
= w U %- ﬁ"g o) — (% -8y

2,

902_> qLQ _.?_7_@ 4‘30 257
N \s =L s

D e

1

é/was\\w-’“\'g(o ) - (01 ) dx A e
(x=9)(x*-%)
B L

2
=1 &o\(q-\OX ¥25 -1 d¥X
X0 ox® *

=7 K_L... o ¥ 7 2- -\rz.q(z,)> ( _10 O . 2‘*(033“]
Q“_[%'L % ‘1‘3)‘& _“_[%z u«()o - ‘;m - Hiewr

\S



!\\' \o 4 Radivs = ”-Z — f=Aary

o L
1 N
AX
\

sk -"’TS ('7-“(%14))1&)( “7— +X ¥\ = \c ~\

Q

—rS W25 #l o

(3 o0 )35 BE

2, W Radive = ox - b
dl~ : —7 ) ,.( VAL
I l\—’ Voo
a1 )
/7<\
d\%‘ﬁ"ﬂ'g(“?.—tj )0\3 SN L

| ’é?_-;é__ -l ~\O '
(- (555 =-w< Q-0 .




